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Instruction :  (A) Question No. 1 is an objective type question. It has three

Parts-Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type qucsfions, Part (B) has Match the following and

Part (C) has Fill in the blanks. Each Part has 5 questions

and each question carries 1 mark.
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(m_a)uﬁﬁmqmﬁf@q:

(Part-A) Choose and write the correct option

(1

(11)

3faeF TanEA
(87) TSl
(@) 9
(®) a9
(g) 9

The biological resource Is :

(a) I.-*ish

(d Land

(c) AIr

(d) Water

anfeler Ter o1 3THY forg <9 | g3 ?
(37) v

(7) smftE

(@) &4

(%) faeA

Economic recession started from which country?
(a) Germany

() America

(c) Russia

(d) Britain

[145=5]
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(i) THEHLIE. (F.C.1.) F "derq & .

(37) YRA ¥ @iy fa2eft geam
(@) I starm fm
(%) wd™ faq fiom

(2) M @Ry famg

The meaning of F.C.I. is :

(@) Foreign Collaboration with India
() Fossil Corporation of India

(¢) Finance Corporation of India

(d) Food Corporation of India
(iv) WA grawsi w1 e §
(37) WTHR GRI STqare W]

(7) TN g &ha @il
(F) TR gR AMFETE! s e

() I9daa gt

An example of pul:;lic services is

(a) opening hospitals by the Government
(b) opening schools by the Government
(¢) opening Anganbari Kendra by the Government

(d) All of the above
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-1

(¥ &4

(2) faeA

Who among the following is not a permanent member of

Security Council?
(@) America
() India

(¢) Russia

(d) Britain

(gre-u ) 3faa way ey :
(&)

() Fmwfawad -

(i) A HER -

(iii) fgia favagg -

(iv) gy (PD.S) -

() el .

(@)
(37) 1939
(7) GEr\ S ITa=
(¥) =" o
(3) T st

() 3 T =t wm

[1%5=5]




[S]
(Part-B) Match the following :

(A) (B)
(/) Altermative of Coal - (a) 1939
(i)  The defeat of Germany - (b) Providing food-grains
(ii1) Second World War - (¢) Graham Bell
(iv) P.D.S. - (d) Nuclear energy
(v) Telephone - (e) Unity of friendly nations
(@ve-u) fo wE =t gfd Fifae .

(Part-C) Fill in the blanks :

(i) T8 Jff F FH F —— T ITRET T

Due to shortage of agricultural land, production of will be

decreased.

(if) @O% ) HEA B TS G- — ¥

Main food-grain of Kharif crops is .

(iif) —— 32l &1 AN WA 91}

was the dictator of Italy.

[1x5=5]
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(iv) -avaﬁmmﬂmﬁéi%——aﬁm’twﬂgaﬂ%l

Globalization benefited the class in the urban area.

Lokmanya Tilak published a magazine in Marathi.

fader :(a)wmzﬁbﬁmaﬁaﬂaﬁﬂamﬁlmwm
2mmﬁﬂﬁl(waﬁﬁww—¥ﬁmmﬁ%)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word-limit of

answer is 30 words)

-2 oW s e ? 2]

What is the indicator of development of the country?

gyH-3 T TEd @ie e wHR o el 8 2 2]

How is cashless purchase done?

uvI-4 S & forg e § afeada fEa ?

(2]
Under what situation Japan surrendered?
WA-5 & H THER a6y (HEA) |
[1+1=2]
State the types of tax (any two).
-6 WRG F WA gan 7 98 feue Iufvey a1 2
[1+1=2]

When did India become Independent? Whose colony wasg it?
as it?

5-3C
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2 (W) 597 I 7 "/ 10 0 A -3 W ¥ | vl v

3 3% aefea €1 (SW A Afwan w=-gim 50 W= ¥)

(C) Question Nos. 7 to 10 are very short answer type questions.

Each question carries 3 marks. (Maximum word-limit of

answer 1s 50 words)

WYH-7 I o WA o ot s sl € 2 wneme (7 ) | [1+1+1=3]
What are the challenges in front of democracy even today? Explain
(any three).

WoA-8 W G FI Ugd §gH & ol §THR T F1-F0 HH IS ¢ 7 HHARY
(HIg ) | | [1+1+1=3]
What are the steps taken by the Government to increase food security?
Explain (any three).

w-9  viffa am<ied % 3eva fafau (w1 @9) | [1+1+1=3]
Write the aims of Peace Movement (any three).

UYT-10  ISRIHT T ST Wl § T | (3]
Explain Liberalization in your own words.
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w-12

18]

: (R) mmuﬁmamag-mﬂum’élmwﬁ
Wﬁmﬁm%lmmm4ﬁ$ﬂlﬁﬁﬁ%l(mﬁ

sfysan w&e-HM 75 g £)

(D) Question Nos. 11 to 14 are short answer type questions.

Each question has internal option. Each question carries

4 marks, (Maximum word-limit of answer is 75 words)

vy fava g3 & fogl = SRl =61 3eor@ wifau

Mention any four reasons for the First World War.

3rerar

OR

FHig FI WY & ¥q@ I PH-HH G o ?

What were the main terms of the Treaty of Versailles?

feeer %! fagw Hifa = wwaRw)
Explain Hitler’s Foreign Policy.
arerqT

OR

et § gafe & 3o & | FR fafag)

Write four reasons for the rise of Mussolini in Ttaly.

[1+1+1+1=4]

[4]

[14+141+1=4]
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yo-13 A @fest § go Tm e me § 59 g e w1 swdn fee yer

TvH-14

mm%?sﬁmﬁmﬁwﬁq

[1+1+1+1=4]

.

=afam

faz2t =1 ITam

]

PRR

feam

BPAREAL

A @ Afgen

Some names are given in the table. How do they use soil? Fill in
the table :

SLNo. Persons

Use of Soil

Potter

Farmer

Sculptor

Woman of village

Hqr
OR

yfy WA ¥ foy #H-3F O 90% o W Ted €2 oo
FHifaTg |

What are the different methods adopted for land management?

Explain. https://www.cgboardonline.com

FATOA @ FHA-FH W S WE 81 € 2 SEgE

What are the figures obtained from census? Explain.

arerar
OR

s faehie v & fog o R, @ 2 e

Population explosion is fatal for society, how? Explain.

[4]

[4]
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: (3) Wm15®16€r¢ﬁﬂuw%lﬂ$mﬁmmﬁ$

ﬁm%lmwmsmmﬁﬁﬁ%l(ﬁﬁﬁﬂw

yE-dm 100 I })

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.

qe-15

uyi-16

Each question has internal option. Each question carries

5 marks. (Maximum word-limit of answer is 00 words)

Wﬂﬁﬁ%—aﬁqtﬁm@ﬁwﬁﬁ%%(ﬂﬁa)? [1+1+1+1+1=5]

What are the problems arising from Urbanization (any five)?
3191/ OR
o ST AR T afiara F e Sy (i urE) |

Compare Rural Settlement and Urban Settiement (any five).

o T o ¥ fore, agn e e &1 el i fagall § W

I | [1+1+1+14+1=5]

Agriculture is very important for India. Explain in any five points.

JHerar

OR

acta Y F oFW IEEEA & e W diw ¥ ffay
(¢ ufer) |

Write briefly the reasons for the low productivity of Indian
Agriculture (any five).

S-3C
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o & | o W W 6 i o ¥ 1 (ST A
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Instruction :  (F) Question Nos. 17 and 18 are long answer type questions.

Each question has internal option, Each question carries

6 marks. (Maximum word-limit of answer is /50 words)

17 39 waaa 6 Foi A waen s @ IR #2 wwemu

(F1 B:) | [141+1+1+1+1=6]
Why some voters do not go for voting? Explain (any six).
W/OR
HaeH YR & B: faxg foraa dfuw samen sifau
Briefly explain six points of Voting Process.

Uyq-18 Harw AWeE # Aead T wdedl & g Fifwe
(12 B:) | [1+1+1+1+1+1=6]

Describe the powers and duties of the Supreme Court (any six),

3real/OR

Tt HEE & ! @ ufEd # v FIY () |

Describe the works and powers of Indian Parliament (any six).




